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Math 2270-1
reduced row echelon form
Monday August 29, 2003
Let Maple compute rref for you, in big examples!
> withilinalg): #load linear algebra library of procedurss
> M:z?atrixfé,é,[0,0,l,—l,—1,4,2,4,2,&,2,4,2,4,3,3,3,4,
3,6,6,3,6,61});

o o ¢ -t -1 4
2 4 2 4 2 4
M=
2 4 3 3 3 4
. 3 6 6 3 6 6
> rref{(M};:
' 1 2 0 3 0 2
o 0o 1 -1 0 2
¢ 0o 0o o0 1 -2
- g 0 o 0 0 0
1.2 #16)

o> A:=matrix(3,6,13,6,9,5,25,53,7,14,21,9,53,105,
: -4,-8,-12,5,-10,111);

3 6 9 5 25 53
Ax=l7 14 21 9 53 105

-4 -8 -12 5 -10 11

> rref{A);

: 1 2 3 0 5 6
o 0o o v 2 7

0O 0 0 0 0 O

%.2 #1T)

> A:=matrix(5,6,[2.4,3,5,6,37.4,8,7,5,2,74,
"‘2,—4,3,4,”5,20,1,2,2f_112;261
5,‘10,4;6;4124}}F

2 4 3 5 6 37
4 8 7 5 2 74
A=-2 4 3 4 -5 20
1 2 2 -1 2 126

"> rref(A);
] -8221 ]
L 0 0 0 ) .
4340
8591
0 i 0 0 0 —
8680
4695
0 0 ! 0 0 -
434
-439
Q0 0 0 t 0 -
434
699
0 0 g 0 ! -
. ! 434 |




